ENGR-2060

E.M. - DYNAMICS

NAME

WEEK: PROBLEM:

GIVEN:
The angle 6 = 217 rad.

(a) What are the velocity and acceleration of point P
in terms of normal and tangential components at
t=13s?

(b) What distance along the circular path does point P
move fromt =0tor=1s?

REQUIRED:

SOLUTION:

Solution: (b} s5=Ro =381

0=22 =3{1))=8m

da

—=4=w
dr

dta rad
=4—=u0

dr? s
s=rf =46 =812
vy = 16f mfs

v=rw=4(4)= 16!

Lo 16
T

(a) v =16(1)e, m/s = 16 ¢, (mJs)

a = Roe: + Ro'en
a= (4)d)e, + (4)4)ey (m/s?)

a = 16e + 6dey (m/s’)
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